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- ~4B35% fie (Rectangular Pulse ) x(t) 2 & 4-™
A, 0<t<T
X0 = {0, H 4
T R- MipA B 2% #2% (Impulse Response) 4o
h(t) = x(T —t)
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= ~B 3ty (Amplitude Modulation, AM ) 12 2 B3 A Fe] Ui
( Double-Sideband Suppressed Carrier, DSB-SC ) @ﬁig?] :
% NAM it1e Rl F (Envelope Detector)) & .8 (54 )
(D% 4/ DSB-SCI 2% 1 ® (Coherent Receiver) = B.8] - (54 )
(4 1 DSB-SC i #j 2 AM ® i p v i Bhfr sk 8L - (154 )

Z - AR R R (FM Modulator) %] 2B 5 x.(t) = 100 cos[2nf.t + @(t)]
HP () = 21tfdf m(a)da, f; = 20Hz/V o (= -] 3854 » =254 )
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G ¥k (Radians) 3+ & d14p = % # (Phase Deviation ) -
@ & (Hertz) 3+ & 214 F %4 (Frequency Deviation) e
G &% £ o A1 EAE 5 4% (Peak Frequency Deviation ) »
)12 3% B & o1 4 B 4p = ;4% (Peak Phase Deviation ) -
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TR B R AELS T 2 % #2rPodk & (Nyquist Rate ) 7 2 % 27/ g ( Nyquist
Interval ) :
& g(t) = cos(200mt) - (5% )
@ g(t) = cos(200mt) + cos(400mt) - (54 )
= g(t) = sinc(200t) » H # sinc(x) = ? o (b4 )
@ g(t) = sinc?(200t) - (104 )



